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Pg. 2

Part—1/97T-1

Marks — 30 / 3% — 30
M WAMHFA 159F E | ft v AFar R | v we 3 R 02 a3t Puifa E |

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

gfe FINANCE = 39, MARKETING = 52, @ PRODUCTION = ?
If FINANCE = 39, MARKETING = 52, then PRODUCTION = ?

&1 0.01, w@a 0.1 ) fraft wfwa 2 7

The number 0.01, is what percent of number 0.1 ?
IR 9x +2 > Tx — 2, &Y x T WIS HEAT 2, % & 1 g=d A B, A1 A 7ia i |

If A is the solution set of 9x + 2 > 7x — 2, where x is a natural number, then find A.
e Tk P o S & B (3,2) ol ot & frdwies (1,1) 3tk (2,5) &, @
et sfid = fdenes stra Hifvm |

If the co-ordinates of the centroid of a triangle are (3, 2) and co-ordinates of the
two vertices are (1, 1) and«(2,5), then find the co-ordinates of the third vertex.

e o e et & i s 2 2 e 2 47 s T e 9w 8 @ T e
| IR A WTH HEAT 36 G G §E41 %1 37on R | |ieh v e g 7

: . S . g i :
Anita thinks of a number and subtracts 5 from it. She multiplies this result by 8.

The resulting number so obtained is 3 times of the original thought number. What
is the number thought by her ?

< G 1 AT 40 T ITH =R 4 B | Q1 GG T I A HIAC |

Sum of two numbers is 40 and their difference is 4. Find the ratio of the two
numbers.

G T % 1 350 Rt 1 2 crgfea & qen < erefreit frdke derdt 8, R
erefbe e T et £ 7

3
§of the total of 350 students of a school are girls and %of the girls play cricket.
How many girls do not play cricket ?

i & SoTel R | 71 3 T A 3 ve IR i miimd R R 2

Three coins are tossed. What is the probability of getting neither 3 heads nor 3 tails ?
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Pg.3

AT Y SR HT Th anmnmﬁmﬁmﬁ4ﬂtﬁwﬁ3é2ﬂrﬁ%ﬁﬁﬁ
JETH HYE I HIT T R | A ST T R 7l HIAT |

A rectangular sheet of card-board has length and breadth as 4 ¢cm and 2 cm

respectively. The largest possible circle is cut from this sheet. Find the area of the
remalmng, portion of the sheet.

Aferes wriesis & &9 1 U 6 AR g | [ &ia : 20 3r5g)

Explain ‘Intuition’ as source of Ethical guide.
[Answer Limit : 20 words]

g Rufers’ & i o & 7 39 g ) g favg-asg #1 @ 7 [So dim : 20 g
Who is the author of “The Republic’ 2 What is the main subject matter of the book ?
[Answer Limit : 20 words]

1 AT IS FET ‘Fhmi%a QU T R ?sﬁwwqﬁ@iwaﬁimw% ?

[IaT €T ; 20 ¥1g)
Does information sharing serve the public interest ? Why is it an important feature
of democracy ? [Answer Limit : 20 words]

YETER HehRIeh & m%wﬁaﬁﬁ%&mm% ? [STR HiT : 20 WIsg]

How does corruption hamper the basic aims of positiveé governance ?
[Answer Limit : 20 words]

Seh-TaT | TR S o Ufd GaeAT ohl 91 ATTIIRAT & 7 [T : 20 Ise]

Why is the need of compassion towards weaker section in civil services ?
[Answer Limit : 20 words]

et —settart’ & 319 I AHgd § 7/ TeRie senaw’ & WE HR FA1R 7

[T HHT : 20 ¥1sg]
What do you understand by ‘Whistle-blower’ ? What are the main functions of
‘Whistle-blower” ? [Answer Limit : 20 words]

Part—-2 /90T -2

Marks — 50 / 3@ — 50
Me:  MAFH P 10 v § | wft w1 e } | v w & e 05 3w
fuifa € |

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

SR Yl A AT RN & ? SHR Al bl @E € 7 [IAHT : 50 ¥
What do you understand by Higher values ? What is the nature of higher values ?
[Answer Limit : 50 words]

wigf (o) TR 2 R e R e BT | [ : 50 9]

What is ‘Attitude’ ? Explain changes in Attitude. [Answer Limit : 50 words]
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Pg. 4

g & fo fem s A s AR R 7 - (3T HiwT : 50 W)
What is importance of rules and regulations for good governance ?

[Answer Limit : 50 words]
iefisht Y gemg At STuRn TE KT | 791 39 Fied 2 6 TS 30 Sae '
Terifass ffa-ee & @t W 3Emrn, wife q9 wwa st gwsg # a8

Th h fRrfa dadion ? [T & : 50 3]
Explain Gandhi’s concept of Satyagraha. Do you think that Gandhi adopted it only

as a political strategy since India was not in a position to fight the mighty British
Empire ? [Answer Limit : 50 words]

&A1 3, 6, 24 37 48 T U AT 1A HIFAT |

Calculate geometric mean of the numbers 3, 6, 24 and 48.

o faum an & dama qen fuaht oo % sl S AU 7:3 91 | gai g @
Bigt 18 v faush gor & aftifera €9 w o8 omum 3:2 8w | 36 foym an &
e <hT el ST FTd ShIfTT |

In a legislative assembly, the ratio of the members of the ruling party. to the

members of the opposition party was 7 : 3. Eighteen members of the ruling party

left their party and joined the opposition. party making this ratio to 3 : 2. Find the
total number of members in-the assembly.

4 lsoooﬁmmaﬁ%mmmmaﬁ%mwwz 96 &
T3 h F1ffes g 1 g |

The difference between compound interest and simple interest on an amount of
T 15,000 for 2 years is ¥ 96. Find the rate of interest per annum.

5\5‘;{‘%% HIAF a+ bA/3 ¥ 9 3 7 B, el 0 a T b i wEd
g1
53 — 312 + 275 .

Find the value of = 54 \l_ in the form of a + b'\ﬁ where a and b are

rational numbers.

T SR e 30 e, 20 fft/der = @, st 30 fef, 25 Redt/wrer <6 =
@ wun anied 30 fedft, 30 feft/ger A e @ @ R | FRH aitEa =@
freprfera |

Calculate the average speed of a car running at the rate of 20 km/hour during the

first 30 kms, at 25 km/hour during the next 30 kms and at 30 km/hour during the
last 30 kms.

e gt hi fore it gd ) evard 14 TR R |3ﬂ§imsﬁ=|zﬁmﬁmwm
Femiferg |

The length of the minute hand of a clock is 14 cms. Find the area covered by it in
5 minutes.
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Part-3 /9P -3
Marks — 40 / 3% — 40
Ae: 7@ um A et 07 v Eawr 2 Gue R | @vs-1 ¥ 04 Wl A A Al 03 I
T @ug-2 & 3wl & | fell 02 weAt @ s fean s srfer 2 | R
w¥ % fore 08 3w Puifa & |

Note : There are 07 questions in this part in 02 sections. It is compulsory to
answer any three questions out of four selected from Section-1 and any
two questions out of three selected from Section -2. Each question carries
08 marks.

Section-1 / @vE-1
General Aptitude / T afwefar

26. | 60 faenfiai % uw wqy # 25 faemedf frde, 30 framfi Feate 3 24 faemeff it
Qe & saie 10 fremfi frbe ik geatar A1, 9 frmdf sk 3 &t 9T,
12 Foremreff gt 3k peater At aur 5 Ryamefi A1 f Qe Qe & | 37 st F1 I
10 g 7 Hifrg 7 frad frarefi ee & @ Aw @ea & |

Out of a group of 60 students, 25 students play cricket, 30 students play football
and 24 students play Hockey while 10 students play cricket and football, 9 students
play cricket and hockey, 12 students play hockey and football and 5 students play

all the three games. Using Venn-diagram, find the number of students who play
only one game.

27. | O SAh 3G U7 H 12.5% @ T R 71 N9 F 60% H =47 T30} | A v B
Toremn wrT 3r@ u% ure @ R, AR 39 ¥ g U B aw 8% Auwwr sy ) ais @
Qo 7 2 o & forg oo 1 3 R o 3R 2 9 W1 7 2030 ey € | =1fE % wrE IOy
e e 7 | |

A person loses 12.5% of his money and spends 60% of the remaining money. The
part of his total money, now left with him, if he deposits this left over money in a

bank for 2 years at 8% annual simple rate of interest, he gets ¥ 2,030 after 2 years.
What was the total initial money with the person ?

28. | w ara ) T IR 5 e HH T A T 3 IFH <gr 3 W w@r § I Al
SaehT SEE 9 SITHIET H9 B Il & 3NN 3R Iuh w3 Hiet we1 &) 9 uE ST
oft 2 et w1 & ST A IGHT VA 67 T TG T § | I h TS T TS
T <hifT |

The area of a rectangle gets reduced by 9 sq. metre, if its length is reduced by 5
metres and breadth is increased by 3 metres and if its length is increased by 3
metres and breadth is increased by 2 metres, its area increases by 67 sq. metre.
Find the length and breadth of the rectangle.
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Frafaftga srtewet & mftyen sma $ifdr :

o I AT
0-10 15
10-20 18
20 - 30 20
30 — 40 14
40 - 50 25
50 — 60 40

Find the median from the following data :
Class Interval Frequency

0-10 15
10-20 18
20-30 20
30-40 14
40 - 50 25
50 - 60 40

Section-2 / @UE-2

Ethics / IERINHA
WA TS % Seq™ # HEfd qar St & AITE i Seid g |

_ : [3THHT : 125 Y]

Point out main contributions of Maharshi Dayanand Saraswati in the upliftment of
Indian society. [Answer Limit : 125 words]
WETEI 3 1TV % IUTA1 i Jeeid HIY | [SaT T : 125 Weg)
Point out the measures to minimize corruption. [Answer Limit : 125 words]
FTRTeh Siad o Afereh Tea i SRen HIT | [STR HiwT ;125 ¥
Explain the moral values of social life. : [Answer Limit : 125 words]
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Part — 4 / ¥R — 4
Marks — 80 / 375 — 80
Me: AT A Fo 07 9 & a1 2 @US B | @US -1 % 04 WA § | fonedi 03wl
u§ Wue-2 % 3 wwi # A fonedi 02 wedl o1 IR fen s e R | @

W o fore 16 31 Fuif@ € |
Note : There are 07 questions in this part in 2 sections. It is compulsory to
answer any three questions out of four selected from Section-1 and any
two questions out of three selected from Section-2. Each question carries

16 marks.
Section-1 /@S —1
General Aptitude / §HTH el

% qar ¥ Fge H A, guen dow el e il o e g, S R ) g
Seger <t g 14 fir . a5 faudft, R | 38 e 1 3 TE 4B SAed A
Hfre | Foger gt M3 @ra v =gn w1 @+ Afe T 5 ufa 100 i &, @ W@ 500
Fge S | e @9 3 7

A medicine capsule is in the shape of a eylinder with two hemispheres stuch to
each of its end. The lengthdof the entire capsule.iS 14 mm and the diameter is
5 mm. Find its volume-and surface area. If the cost of covering capsule with sweat

edible coating is ¥ 5 per 100 mm? then what will be the total cost of manufacturing
of 500 such capsules.

T GEHGH, il i Teh & HIe W G forehed <l ® |

(i) WA T 5,500 T8 | 15%, 10% 5% 1 H00E G2 |

(ii) e H 26,000 T T 18%, 15% T 6% N i FAF FE | el B S A
forspeq TRl 2 |

A shopkeeper gives two options to the buyer of the same coat,

(i) on coat’s price of ¥ 5,500, three consecutive discounts of 15%, 10% and 5%.

(ii) ~on coat’s price of ¥ 6,000, three consecutive discounts of 18%, 15% and 6%.
Which option will be beneficial for the buyer ?

ﬁ:ramqf%mzﬁ%%qqsﬁmm 25.4 T gE W1 32.5 Treten T R | x 3k
'y I W 1A HIFT |

a1 : | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Fmfrl : | 20 15 10 x y

Fefill : 4 8 4 2x y

For the following two frequency distributions, the mean calculated for the first was
25.4 and that of the second was 32.5. Find the values of x and y.

Class : | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency I : 20 15 10 X y
Frequency II : 4 8 4 2x y
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r-(1)

HrT-(2) :

Part-(1) :

Part-(2) :

. A,B 3 C T w1 i 3kt F: 6, 8 3R 2 RA A @ wwa € 1 3R

3 i1 u e et 36 1 Y U A WHA T 23,400 FAQ 2 a9l 39
a3 ° C 1 faem fpan&@m 2

20 wfera framse Yeraial & Oie & 50 Sfwra fremss Venigiel & gl
# g aua # frern wifee @ifs afomft @ia & fruse YewiEta 40
yiowa 8 9 ?

A, B and C each of them working alone can complete a job in 6, 8 and
12 days respectively. If all three of them work together to complete the
said job, they earn ¥ 23,400. Determine the share of C in their
earnings.

In what ratio should a 20% methyl alcohol solution be mixed with a
50% methyl alcohol so that the resulting solution has 40% methyl
alcohol ?

Section-2 / @VE -2

Ethics / AR

frfirr Rremesrratl & gro ot Rifirer e 3 sfard 3R wet 6t samen Hifv |

[STCHHT : 250 9155

~ Explain the essential moral values of civil service as described by different school
of thoughts. : [Answer Limit : 250 words]
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ﬁn%%ﬂmﬁqﬁwmﬁmqﬁqwm%;ﬁ%@@mﬁmmaﬁq:

e, gfer gt w9 3 U gfera bRy, O s geet arelt s e 2 | @

A1 S, U ASHT U1 Th Tigeh! 0 aE & H19el § | 32 el 8 i Rfbear

1 ST 7 AU IThHI 1S FHAT g B Hehell 2 | 1S 31 gferd gter @ wreiE

FH g qohler el age wehell | Tt 1 oot g8 vy i o @ S e 2w

2 | 36! M R 5 gl B wera Teh R P 3R et 7w guR T8 el | Erer

HUTEH <l AT 9ga 9 8 | I8 Tet Freeht d@wre Sl SiRe 7 a8 3@k R

FEIG AR | _

W : AT WHEAT 61 GoAieh Fl Tl ?

1. wafe <t et SoTerHt au e =fey % 97 Regdh aema =t

2. I S I8 g Y GErar S 911y | |

3. Tl I Ugel TT6% H AT TR iR el o # oreent i Fhar & s
21

4. GHEI H1 BIS WHR FH 979 5T T2 8 | . [STR i : 250 w=g)

Study the following case carefullyand answer the questions that follow :

Swati, a police officer in control room, reaches a scene of a bad accident. Two
young persons, a boy and a girl, are badly hurt. They need immediate first aid or
their injuries will prove fatal. No other police patrol or ambulance can reach the
site immediately. Swati has good paramedical training because of her back ground.
She assesses that the condition of the girl is‘’such that the probability of her single
handed effort succeeding is slim. To whem should she attend first ? This is an
agonizing dilemma for her.

Question : How will you evaluate the problem ?

Swati should toss a coin and decide whom to help.

Swati should help the boy first. .

Swati should help the boy as a'boy always has priority in Indian society.

There is no acceptable solution to the problem. [Answer Limit : 250 words]

ot e
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39. | F=ferRaa sertor =6t ArEarigEs iy au 3us A= fora 7 WAl 1 I @i«

LA A Al § HRIER & S IE a1 3 dR-Hit ey g 6 Shfafin s s

ST IfeTeh 9 TR | ST 1 S qehiehl Fgwres 3 gadl et &1 3 for ug wm R

@ 98 UG Wieh B T | e G 3 S e 5 Saent a1 g3 tHene aeHieh e

1 foan S @ P Avse it e 3N | T R A @ 36 w1 geret

oy fomam okt Twemer <t St A W weE TR | g 3 wa 6 sE @ 3

Fofifrafin i veré R Swege et ZRaRiA A A1 @ | v g & @ o™ wIg

Iz off Fa1 Fit fofie Awege farper IRaRiA = Affent & wmrar s Ryt 2 |

36 98 ¥t sawn o Taere A 2215e % U $© Hrivmenadt § gl ot foran } | saw

T oft o foran & 3| e <t T ST ey dis 7@ & 3 9 f% aft @7

R Ug W 1 98 @ FEl AR O 3gh RER @ IS FREE hH GEE a9 | I8

Ig 37K gl foh 38k R GIRET & oo W UHAT Hee 97 foran s |

W : HE AT 6 3119 3 a9t & St & afig § o g % aeEeR § | A

HAW I T FATE 7 ?

1. 91 G i HaWTE <t fh T fiewrenl Y 31K & 369 YR &1 foliy iaRe sfiew
®AT AR ? G i g fRufer i et =nfa |

2. ! HEATE &1 foh THATS hl WY TR A FE;AT S F1fee 3 v I=a
IAEIRIE A1 =1 |

3. &t i et yavE % iged e, 9t 3y a1 R Q@ 2eehe Wi Fges s
wifew St darfaa & Hie 759 @8 3 I W™ S M Rram & faey fem

& |1y fages fopan s =R
4. 9! I TEAT ST Fifeh TRER & qieil 3 N7 arfehend Y oTd 9T &1 T8l
e | [ HT : 250 W]

Study the following case carefully and answer the questions that follow :

Suresh started a business from scratch, and ended up as substantial owner of a mid

sized engineering company. The position of technical director in the company fell

vacant when its incumbent resigned to take up another assignment. To the surprise of
the board, Suresh proposed that his young son Ramlal should be made a technical
director. One director openly expressed his opposition to the proposal and doubted

Ramlal’s credentials. Suresh replied that his son has studied engineering in Remote

Westbrook Technical University. In reply to the member’s question, he added that

Remote Westbrook Technical University is an accredited university in New Mexico.

Ramlal, he added also took training in some workshops near Detroit. When there was

further opposition, he pleaded that his health was poor and that he would like someone

from his family to take reins if he were to become too ill. Ramlal, he added, would be
elected a member on the strength of his shareholding.

Question : Assume that you have been the secretary of the company for many years

and have the ears of Suresh. What would be your advice to Suresh ?

1. You would advise Suresh that such opposition from independent Directors is

- routine in corporate life. Suresh should not change his position.

2. Your advice would be that Ramlal should start at the shop floor and then
gradually take up higher responsibility.

3. Company should appoint an elderly technocrat with management experience
who 1s nearing retirement and he should be appointed with specific mission to
groom Ramlal.

4. You should stay away because in family matters people do not pay heed to
reason. [Answer Limit : 250 words]
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